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1 BIES 1kg 1 |®ES 1keg
2 |EEf 1kg 2 |EE =5 214| 1kg 2,160 756
3 Kahvh kg 3 Kahvb 1kg
4 |[S1E ER-=8 70| 1kg 778 605 4 |=IF 1keg
5 &L E-=% 43| kg 3,132 756) 5 |&HL 1kg
6 [LvbL B 152] kg 518 378 6 |LvbL 1keg
7 |$r00 | BE 8| 1kg 648 1 [$5H0h 1kg
SAE 1kg 8 |SAE 1keg
9 [A3Y = 16| 1ke 3,132 1,836) 9 |AY kg
10 |&ZL E=1l| 75| 1kg 972 810| 10 |xZL 1keg
1 |H28 BER 94| kg 864 756| 11 |2 kg
12 |f=Ly == 322 1kg 1,566 540] 12 |f=Ly kg
13 |IFFH =i 20| kg 788 13 [[FFH 1kg
14 |[hhiy Tkg 14 |Ahis Tkg
15 (OB 1kg 15 | 058 itigiE 15| 1kg 2,862 1,998
16 | AN Tkg 16 | AN Tkg
17 |2Y I 4 9] 1kg 1,998 17 |ZU 1keg
18 [PYLyh iz 24| kg 1,760 18 [PYLyh kg
19 |f=C itigiE 6] kg 3,240 19 |2 1kg
20 | Tkg 20 |vE Tkg
21 |HsY dtiEE 20| 1ke 1,512 21 |HaY 1kg
22 | RAHWP 158 22 |\ XRHYP | KB 121] 158 8,640 1,620
23 | BEHP |BH-me 190 1kg 2,700 23 | BEHP Tkg
24 | E B4 - hE 690| kg 6,264 5,184| 24 |S54E 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |&aST Y7 -7Y 312| 1kg 2,484 1,026] 1 |{ESIT F-deimE 598| 1kg 1,598 1,134
2 |AhIz Y7 34| kg 4,752 4,730 2 [iB&1E IV Tl 388| 1kg 1,944 864
3 [BAY S A RYT 517| 1kg 12,096 1,166) 3 |iExAF | dbiEE 15| 1kg 1,436
4 AFWbL| SR 224 1kg 886
5 [FAHL RI& 136| 1#& 335 130
6 [ bYDHA ZH 70| 1kg 2,700 1,944
1_|IhNEF Tkg




